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1 (3770) 1€(PC) =017 )

$(3770) MASS (MeV)

OUR FIT includes measurements of m¢(25), m¢(3770), and
M (3770) — Map(2S)-

VALUE (MeV) EVTS DOCUMENT ID TECN COMMENT
3773.71+0.4 OUR FIT Error includes scale factor of 1.4.
3778.11+0.7 OUR AVERAGE

3778.1+0.74+0.6 L AAL 19M LHCB pp — DD + anything
37792718108 2 ANASHIN  12A KEDR ete™ — DD
3775.5+2.44+0.5 57 AUBERT 088 BABR B — DDK

3776 +5 44 68 BRODZICKA 08 BELL Bt — DODOK+
3778.8+1.91+0.9 AUBERT 07BE BABR ete™ — DD~

e o ¢ We do not use the following data for averages, fits, limits, etc. @ o o

3779.84+0.6 3 SHAMOV 17 RVUE ete™ — DD, hadrons
3772.0+£1.9 4.5 ABLIKIM 08D BES2 et e~ — hadrons
3778.44+3.0+1.3 34 CHISTOV 04 BELL Sup. by BRODZICKA 08

1 Measured in prompt hadroproduction.

2 Taking into account interference between the resonant and non-resonant D D production.

3 From the joint analysis of the data on the DD and inclusive hadronic cross sections in
the ¥ (3770) region from BaBar, Belle, BES-II, CLEO and KEDR.

Reanalysis of data presented in BAI 02C. From a global fit over the center-of-mass energy
region 3.7-5.0 GeV covering the ¢(3770), 1(4040), ¢(4160), and 1 (4415) resonances.
Phase angle fixed in the fit to § = 0°.

5 Interference between the resonant and non-resonant DD production not taken into ac-
count.

My, (3770) — My(25)
OUR FIT includes measurements of m¢(25), m¢(3770), and
My (3770) — Mp(2S)-

VALUE (MeV) DOCUMENT ID TECN COMMENT
87.6+£0.4 OUR FIT Error includes scale factor of 1.4.
86.61:0.7 OUR AVERAGE Error includes scale factor of 2.0. See the ideogram below.

86.9+0.4 L ABLIKIM 07E BES2 et e~ — hadrons
86.7+0.7 ABLIKIM 06L BES2 ete~ — hadrons
80 +2 SCHINDLER 80 MRK2 ete™
86 +2 2 BACINO 78 DLCO ete—
88 +3 RAPIDIS 77 LGW ete™

https://pdg.Ibl.gov Page 1 Created: 8/11/2022 09:37



Citation: R.L. Workman et al. (Particle Data Group), Prog.Theor.Exp.Phys. 2022, 083C01 (2022)

WEIGHTED AVERAGE
86.6+0.7 (Error scaled by 2.0)

|

Values above of weighted average, error,
and scale factor are based upon the data in
this ideogram only. They are not neces-
sarily the same as our ‘best’ values,
obtained from a least-squares constrained fit
utilizing measurements of other (related)
quantities as additional information.

2
X
+ ABLIKIM 07E BES2 0.4
»»»»»»» ABLIKIM 06L BES2 0.0
—f SCHINDLER 80 MRK2 11.1
------ BACINO 78 DLCO 0.1
- RAPIDIS 77  LGW
11.6
(Confidence Level = 0.0091)
| |
75 80 85 90 100
1 BES Il 1(2S) mass subtracted (see ABLIKIM 06L).
SPEAR 1(2S) mass subtracted (see SCHINDLER 80).
My, (3770) — My (25) (MeV)
¥(3770) WIDTH
VALUE (MeV) EVTS DOCUMENT ID TECN COMMENT
272+ 1.00URFIT
27.5+ 0.9 OUR AVERAGE
24.9F 28+05 1 ANASHIN 12A KEDR ete— — DD
30.4+ 85 2,3 ABLIKIM 08D BES2 ete™ — hadrons
27 +10 +5 68 BRODZICKA 08 BELL Bt — DODOk+
28.54+ 1.240.2 3 ABLIKIM 07E BES2 et e™ — hadrons
2354+ 3.740.9 AUBERT 07BE BABR et e~ — DD~
26.9+ 2.440.3 3 ABLIKIM 06L BES2 et e~ — hadrons
24 + 5 3SCHINDLER 80 MRK2 ete™
24 + 5 3 BACINO 78 DLCO +e
28 + 5 3 RAPIDIS 77 LGW ete

e o o We do not use the following data for averages, fits, limits, etc. o o o

258+ 1.3

4 SHAMOV

Phase angle fixed in the fit to § = 0°.

Interference between the resonant and non-resonant DD production not taken into ac-

count.

From the joint analysis of the data on the D'D and inclusive hadronic cross sections in

17

RVUE ete™ — DD, hadrons

1 Taking into account interference between the resonant and non-resonant D D production.
Reanalysis of data presented in BAI 02C. From a global fit over the center-of-mass energy
region 3.7-5.0 GeV covering the (3770), 1(4040), (4160), and 1(4415) resonances.

the ¥(3770) region from BaBar, Belle, BES-II, CLEO and KEDR.
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¥(3770) DECAY MODES

Scale factor/

Mode Fraction (I';/T) Confidence level
, DD 93 T§8 )% S=2.0
I DO DO 2 T2 )% $=2.0
M3 Dt D~ (41 +4 )% $=2.0
f,  J/yYX (5.0 £22 )x 1073
Mg J/yn™ ( 1.9340.28) x 10~3
e J/mOn0 (80 +£3.0 ) x 1074
r,  J/Yn (9 +4 )x10~4
g J/ynd < 28 x 104 CL=90%
g ete™ (9.6 £0.7 ) x 1076 S=13

Decays to light hadrons

Mo b1(1235)7 < 14 x 107>  CL=90%
11 o7 < 7 x 104 CL=90%
Fo wn < 4 x 104 CL=90%
s p°n < 6 x 1074 CL=90%
M4 o7 (31 407 )x10~4
M5 wn < 14 x 1072 CL=90%
e P°n < 5 x 1074 CL=90%
ry; on° < 3 x 1075  CL=90%
Mg wnd < 6 x 104 CL=90%
Mo nta n0 < 5 x 106 CL=90%
M0 pT < 5 x 1076 CL=90%
Y Kt K~
M K*(892)T K™+ c.c. < 1.4 x 1073  CL=90%
Mz K*(892)°K°+ c.c. < 12 x10~3  CL=90%
My KK < 1.2 x 1075 CL=90%
M5 2(7T77) < 112 x 1073 CL=90%
M6 2(7r )0 < 1.06 x 1073 CL=90%
M7 ( 7~ 70) < 5.85 % CL=90%
g atn™ < 6.0 x 10~4 CL=90%
Mg ( ) < 91 x 1073 CL=90%
Mo 3(rt77)a° < 137 % CL=90%
M3 3(7r )2 270 <1174 % CL=90%
M3 nnt < 1.4 x 1073 CL=90%
33 7r+7r— 27r0 < 89 x 1073 CL=90%
M3 pOntm < 6.9 x1073  CL=90%
M35 13w < 134 x 1073 CL=90%
M3 n2(nta) < 2.43 % CL=90%
37 np07r+7r_ < 145 % CL=90%
Mg 13w < 2.44 x 1073 CL=90%
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[ 39 KtK— =t < 9.0
a0 ot < 41
Mgy KHK— 270 < 42
M40 4(mt77) < 1.67
M43 4(xt7)n0 < 3.06
F44 (ZSf()(980) < 45
Mys KTK ntan— a0 < 236
6 Kt K= pOn0 < 8
F47 KT K_,O+7T_ < 1.46
g wKTK™ < 3.4
[ 49 dprtn— a0 < 3.8
50 KOK=nt70+ cc. < 1.62
M1 K**K-ntn™ + c.c. < 3.23
Mo KtK—ntn—2x0 < 2.67
M53 KTK™2(rT77) < 1.03
Mss KTK=2(xtn)nd < 3.60
F55 77K+ K~ < 41
56 nKTK 7T < 1.24
M7 pOKTK™ < 5.0
58 2(K+ K_) < 6.0
M9 o KJr K_ < 75
F60 ( ) < 29
F61 2(K+ K~ ) T < 3.2
Moo KIK— 7t < 32
63 KCS)K_W+7TO < 1.33
Fea KIK pT < 6.6
Fes KIK 27T < 87
66 K%K_W+p0 < 1.6
M7 KIK— 7t < 13
68 K% K= 2nt 7= 70 < 4.18
feg KIK 2rtnn < 48
Mo K% K=nt2(znta™) < 122
71 KYK=at2n0 < 265
M2 KIK-KTK— 7t < 49
r73 KYK-KTK- 7t 70 < 30
F7a KYIKTKTK— 7t < 2.2
s KOK 7t+ cc < 97
76 PP

r77 pﬁﬂ'o < 4
M7 pprim™ < 58
F79 AA < 1.2
rgo pprta— a0 < 1.85
g1 wpp < 29

https://pdg.Ibl.gov Page 4

x 10~4
x 10~4
x 10~3
%
%
x 10~4
x 103
x 10~4
%
x 104
x 103
%
%
%
%
%
x 10~4
%
x 10~3
x 10~4
x 10~4
x 10~4
x 10~3
x 10~3
%
x 10~3
x 103
%
%
%
%
%
%

x 1072
x 10~4
x 10~4
x 10~3
x 10~4

CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%

CL=90%
CL=90%
CL=90%
CL=90%
CL=90%

Created: 8/11/2022 09:37



Citation: R.L. Workman et al. (Particle Data Group), Prog.Theor.Exp.Phys. 2022, 083C01 (2022)

o AA70 < 7 x107%  CL=90%
M3 pp2(nta™) < 26 x 1073 CL=90%
lga npp < 54 x 10~4 CL=90%
Fgs nppri ™ < 33 x 1073 CL=90%
M6 ppP < 17 x 1073 CL=90%
g7 ppKTK™ < 32 x 1074  CL=90%
Fgg nppPKT K™ < 6.9 x 1073 CL=90%
Fgg n0ppKT K™ < 12 x 1073 CL=90%
Foo0 ¢pP < 13 x10~4%  CL=90%
Fg1 AA7T7™ < 25 x 1074  CL=90%
Fgp APpKT < 28 x 1074  CL=90%
Fo3 APKTaTn™ < 6.3 x 1074 CL=90%
Foa  AAD < 1.9 x10™4  CL=90%
Fg5 XtX— < 1.0 x 104  CL=90%
Mg X030 < 4 x 1075 CL=90%
fg7 =TZ=— < 15 x 1074  CL=90%
Fgg =020 < 14 x 104 CL=90%
Radiative decays

F99 VX2 < 6.4 x 10~4 CL=90%
F100 7Y Xecl ( 2.4940.23) x 103

o1 YXco (6.9 £0.6 ) x 10—3

F102 Y7e < 7 x 104 CL=90%
M103 71c(25) < 9 x 10~4 CL=90%
F10a Y1 < 1.8 x 10~4 CL=90%
M05 Y7 < 15 x 10~4 CL=90%
M06 ~Y7° < 2 x 1074 CL=90%

CONSTRAINED FIT INFORMATION

An overall fit to the total width, a partial width, and 3 branching
ratios uses 23 measurements and one constraint to determine 5
parameters. The overall fit has a X2 = 20.1 for 19 degrees of
freedom.

The following off-diagonal array elements are the correlation coefficients
<5pi5pj>/(6pi'5pj), in percent, from the fit to parameters p;, including the branch-
ing fractions, x; = T;/Tiota). The fit constrains the x; whose labels appear in this
array to sum to one.

x3 | 99
xx | 0o 0
r{ o o -
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Mode Rate (MeV) Scale factor
, DODO 14.0 +£1.4 1.8
[ DD~ 112 +1.1 1.7
g ete™ ( 2.62:+£0.18) x 10~ 4 1.4
¥(3770) PARTIAL WIDTHS

Mete™) Mo
VALUE (keV) EVTS DOCUMENT ID TECN COMMENT
0.262+0.018 OUR FIT Error includes scale factor of 1.4.
0.256+0.016 OUR AVERAGE Error includes scale factor of 1.2.

+0.079 +0.021 1,2 + 5
0'154—0.058 20027 ANASHIN 12A KEDR e™T e DD
0.22 +0.05 3,4 ABLIKIM 08D BES2 ete hadrons
0.277+0.011+0.013 4 ABLIKIM 07E BES2 ete hadrons
0.203+£0.003 73931 1.4m 45 BESsoN 06 CLEO ete hadrons
0.27640.050 4 SCHINDLER 80 MRK2 etTe™
0.18 =+0.06 4 BACINO 78 DLCO ete™
o o ¢ We do not use the following data for averages, fits, limits, etc. o o o
0.196+0.018 6 SHAMOV 17 RVUE ete — DD, hadrons

+0.07240.093 2.7 b —
0'414—0.080 20028 ANASHIN 12A KEDR eTe™ — DD
0.37 +0.09 8 RAPIDIS 77 LGW ete—

L Solution | of the two solutions.

Taking into account interference between the resonant and non-resonant D D production.
3 Reanalysis of data presented in BAI 02C. From a global fit over the center-of-mass energy
region 3.7-5.0 GeV covering the ¢(3770), ¢(4040), ¢(4160), and 1 (4415) resonances.
Phase angle fixed in the fit to § = 0°.
4 Interference between the resonant and non-resonant DD production not taken into ac-

count.
5BESSON 06 (as corrected in BESSON 10) measure o(et e~ — (3770) — hadrons)

=6.36 £ 0081_83% nb at /s = 3773 & 1 MeV, and obtain I',, from the Born-level

cross section calculated using 1(3770) mass and width from our 2004 edition, PDG 04.
6 From the joint analysis of the data on the DD and inclusive hadronic cross sections in
the ¥ (3770) region from BaBar, Belle, BES-II, CLEO and KEDR.
7 Solution 11 of the two solutions.
8 See also M(ete™)/Tiora) below.

¥(3770) BRANCHING RATIOS
F(DD) /[Tiotal M /T=(M2+3)/T

VALUE EVTS DOCUMENT ID TECN  COMMENT

0.93 ig% OUR FIT  Error includes scale factor of 2.0.

0.93 i‘g% OUR AVERAGE Error includes scale factor of 2.1.

0.849+0.056 40.018 1 ABLIKIM 088 BES2 ete™ — non-DD
1.033+0.014 70048 1.427m  2BESSON 06 CLEO ete™ — hadrons
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e o o We do not use the following data for averages, fits, limits, etc. o o o

0.83640.049 3 SHAMOV 17 RVUE ete™ — DD, hadrons
0.866+0.050 +-0.036 4,5 ABLIKIM 07K BES2 ete™ — non-DD
0.8364+0.07340.042 5 ABLIKIM 06L BES2 ete~ — DD
0.85540.0174+0.058 5,6 ABLIKIM 06N BES2 ete~ — DD

1 Neglecting interference.

2 Obtained by comparing a measurement of the total cross section (corrected in
BESSON 10) with that of DD reported by CLEO in DOBBS 07.

3 From the joint analysis of the data on the DD and inclusive hadronic cross sections in
the ¥ (3770) region from BaBar, Belle, BES-II, CLEO and KEDR.

4 Using 0905 = 7.07 4 0.58 nb and neglecting interference.

5 Not independent of ABLIKIM 08B.

6 From a measurement of o(ete™ — DD) at /5 = 3773 MeV, using the (3770)
resonance parameters measured by ABLIKIM 06L.

r(DODP) /T total ro/T

VALUE DOCUMENT ID TECN  COMMENT

0.52 tggg OUR FIT Error includes scale factor of 2.0.

e o o We do not use the following data for averages, fits, limits, etc. o o o

0.467+0.047 +0.023 ABLIKIM 06L BES2 ete— — DODO
0.49940.01340.038 1 ABLIKIM 06N BES2 ete— — DODO

1 From a measurement of o(ete™ — DD) at /5 = 3773 MeV, using the 1(3770)
resonance parameters measured by ABLIKIM 06L.

r(D*D~)/Motal rs/T
VALUE DOCUMENT ID TECN COMMENT
0.41 +0.04 OURFIT Error includes scale factor of 2.0.

o o ¢ We do not use the following data for averages, fits, limits, etc. @ o o

0.3694-0.037 40.028 ABLIKIM 06L BES2 ete™ — DtD—
0.35740.0114+0.034 1 ABLIKIM 06N BES2 etTe™ — DtD—

1 From a measurement of o(ete™ — DD) at \/s = 3773 MeV, using the ¥(3770)
resonance parameters measured by ABLIKIM 06L.

r(p°DP)/r(p* D) r2/T3
VALUE EVTS DOCUMENT ID TECN  COMMENT

1.25310.016 OUR FIT

1.2531+0.016 OUR AVERAGE

1.252+0.009+40.013 5.3M BONVICINI 14 CLEO ete~ — DD

1.39 +£0.31 +0.12 PAKHLOVA 08 BELL 10.6ete  — DD~
1.78 +0.33 +0.24 AUBERT 07BE BABR ete™ — DD~
1.27 +£0.12 +0.08 ABLIKIM 06L BES2 ete” — DD

2.43 £+1.50 £0.43 34 L cHIsTOV 04 BELL Bt — zp(3770)K+
e o o We do not use the following data for averages, fits, limits, etc. e o o
1.258+0.0164+0.014 2 DOBBS 07 CLEO ete~ — DD

1 See ADLER 88C for older measurements of this quantity.
2Superseded by BONVICINI 14.
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F(J/¥X)/Teotal Fa/T
VALUE (%) DOCUMENT ID TECN COMMENT
0.5+0.240.1 1 ABLIKIM 217 BES3 ete™ — ¢ti—X

LFrom a fit to the eT e™ — J/9¥ X cross section between 3.645 and 3.891 GeV, with
1(2S) and (3770) masses, total widths and leptonic widths fixed to the values from
the PDG 20. An alternative fit with an improved X21 corresponding to a significance of
5.3 o, uses an additional resonance with a mass of 3766.2 + 3.8 + 0.4 MeV/cz, a total
width of 22.2 £ 5.9 + 1.4 MeV, and (e €)-B(J/9 X) = 79.4 £ 85.5 + 11.7 eV, possibly
compatible with the results of ABLIKIM 08H.

F(J/ynta™)/Teotal Is/T
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
1.93+0.28 OUR AVERAGE
1.89£0.20£0.20 231 + 33 ADAM 06 CLEO ete™ — 4(3770)
3.4 +1.4 +0.9 17.8 £ 4.8  BAI 05 BES2 ete™ — 4(3770)
I-(J/?P'"'o WO) /Ttotal Fe/T
VALUE (units 10_2) EVTS DOCUMENT ID TECN COMMENT
0.080+£0.025+0.016 39 + 14 ADAM 06 CLEO ete™ — 4(3770)
r(-’/"/’ﬂ)/rtotal F7/T
VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT
87133422 22 + 10 ADAM 06 CLEO ete™ — (3770)
r(J/’W"O) /Ttotal Fg/T
VALUE (units 10_5) CL% EVTS DOCUMENT ID TECN COMMENT
<28 90 <10 ADAM 06 CLEO ete™ — (3770)
r(e+ e-)/rtota| rg/r
VALUE (units 10*5) DOCUMENT ID TECN COMMENT
0.96+0.07 OUR FIT Error includes scale factor of 1.3.
1.3 +0.2 RAPIDIS 77 LGW ete

— DECAYS TO LIGHT HADRONS ——
I-(bl(123!-’)"")/rtotal Mo/T
VALUE (units 10_5) CL% DOCUMENT ID TECN COMMENT
<14 90 1 ADAMS 06 CLEO ete™ — 4(3770)

1 Comparing cross sections at /s = 3.773 GeV and /s = 3.671 GeV, neglecting interfer-
ence, and using (¢(3770) — DD) = 6.39 %+ 0.20 nb.

/
I-(¢77 )/rtotal M1 /T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<7 90 1 ADAMS 06 CLEO ete™ — 4(3770)

1 Comparing cross sections at /s = 3.773 GeV and /s = 3.671 GeV, neglecting interfer-
ence, and using o(¥(3770) — DD) = 6.39 £ 0.20 nb.
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/
I'(wn )/l'tota| r12/r
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<4 90 1 ADAMS 06 CLEO ete™ — 4(3770)

1 Comparing cross sections at /s = 3.773 GeV and /s = 3.671 GeV, neglecting interfer-
ence, and using (¢(3770) — DD) = 6.39 %+ 0.20 nb.

0,/
F(0°7) /Teotal s/l
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<6 90 1 ADAMS 06 CLEO ete™ — 4(3770)

1 Comparing cross sections at /s = 3.773 GeV and Vs = 3.671 GeV, neglecting interfer-
ence, and using o(¥(3770) — DD) = 6.39 £ 0.20 nb.

I (¢m)/Ttotal M4/

VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
3.14+0.6+0.3 1 ADAMS 06 CLEO 3.773 ete™ — ¢n

e o ¢ We do not use the following data for averages, fits, limits, etc. o o o

<19 90 2 ABLIKIM 078 BES2 ete™ — ¥(3770)

1 Comparing cross sections at /s = 3.773 GeV and /s = 3.671 GeV, neglecting interfer-
ence, and using (¢(3770) — DD) = 6.39 %+ 0.20 nb.

2Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(et e~ — (3770)) = 7.15 + 0.38 nb.

I'(w 77) /Ttotal Ms/T
VALUE (units 10_5) CL% DOCUMENT ID TECN COMMENT
<14 90 1 ADAMS 06 CLEO ete™ — 4(3770)

1 Comparing cross sections at /s = 3.773 GeV and Vs = 3.671 GeV, neglecting interfer-
ence, and using o(¥(3770) — DD) = 6.39 £ 0.20 nb.

0
[ (°n) /Ttotal M16/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<5 90 1 ADAMS 06 CLEO ete™ — 4(3770)

1 Comparing cross sections at v/s = 3.773 GeV and /s = 3.671 GeV, neglecting interfer-
ence, and using (¢(3770) — DD) = 6.39 %+ 0.20 nb.

I'(¢1r°) /Ttotal M7/l
VALUE (units 10~°) CL% DOCUMENT ID TECN  COMMENT

<3 90 1 ADAMS 06 CLEO ete™ — 4(3770)

e o o We do not use the following data for averages, fits, limits, etc. o o o

<50 90 2 ABLIKIM 078 BES2 ete™ — 4(3770)

1 Comparing cross sections at /s = 3.773 GeV and /s = 3.671 GeV, neglecting interfer-
ence, and using o(¥(3770) — DD) = 6.39 £ 0.20 nb.
2Assuming that interference effects between resonance and continuum can be neglected

and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

I-(""""())/rtotal I-18/r
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<6 90 1 ADAMS 06 CLEO ete™ — 4(3770)

1 Comparing cross sections at /s = 3.773 GeV and /s = 3.671 GeV, neglecting interfer-
ence, and using (¢(3770) — DD) = 6.39 %+ 0.20 nb.
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M (r+ 7~ a0) /Teotal Mo/
VALUE (units 1076) CL% DOCUMENT ID TECN COMMENT
<5 90  L2ADAMS 06 CLEO ete™ — 1(3770)

1Data suggest possible destructive interference with continuum.
2 Comparing cross sections at /s = 3.773 GeV and /s = 3.671 GeV, neglecting interfer-
ence, and using o(¥(3770) — DD) = 6.39 £ 0.20 nb.

[ (o) /Teotal T20/T
VALUE (units 10_6) CL% DOCUMENT ID TECN COMMENT
<5 90  L2ADAMS 06 CLEO ete™ — 4(3770)

1 Comparing cross sections at /s = 3.773 GeV and /s = 3.671 GeV, neglecting interfer-
ence, and using o(¢(3770) — DD) = 6.39 %+ 0.20 nb.

2Data suggest possible destructive interference with continuum.

MKt K™)/Tiotal M2/l

VALUE DOCUMENT ID TECN  COMMENT

e o e We do not use the following data for averages, fits, limits, etc. o o o
~ 1075 IDRUZHININ 15 RVUE ete™ — ¥(3770)

1 DRUZHININ 15 uses BABAR and CLEO data takitaking into account interference of the
processes ete” 5 KTK andete™ — K% KO,

L
I‘(K*(892)+ K+ C.C.)/rtotal Mo/l
VALUE (units 1075) CL% DOCUMENT ID TECN COMMENT

<1.4 90 1 ADAMS 06 CLEO ete™ — 4(3770)

1 Comparing cross sections at /s = 3.773 GeV and Vs = 3.671 GeV, neglecting interfer-
ence, and using o(¥(3770) — DD) = 6.39 £ 0.20 nb.

(K*(892)°K® +c.c.) /Tiotal a3/l
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT
<1.2 90 1 ADAMS 06 CLEO ete™ — 4(3770)

1 Comparing cross sections at /s = 3.773 GeV and /s = 3.671 GeV, neglecting interfer-
ence, and using o(¢(3770) — DD) = 6.39 %+ 0.20 nb.

(K KD)/Tiotal 24/T
VALUE (units 1075) CL% DOCUMENT ID TECN COMMENT
<12 90 1 CRONIN-HEN..06 CLEO etTe™ — (3770)
e o o We do not use the following data for averages, fits, limits, etc. o o o
<21 90 2 ABLIKIM 04F BES ete™ — (3770)
1 Using o(ete™ — (3770) — hadrons) = (6.38 + 0081_8;1)) nb from BESSON 06
and B(K$ — #F77) = 0.6895 + 0.0014.
2 Using B(KS — 7t 77) = 0.6860 & 0.0027.
F(2(n* 7)) /Tiotal M5/l
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<11.2 90 1 HuANG 06A CLEO ete™ — 4(3770)
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e o o We do not use the following data for averages, fits, limits, etc. o o o
<48 90 2 ABLIKIM 078 BES2 ete™ — 4(3770)
1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.

2Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

—\..0
r(2(7"+7" ) )/ Mtotal 26/
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<10.6 90 L HUANG 06A CLEO ete™ — ¢(3770)
e o ¢ We do not use the following data for averages, fits, limits, etc. o o o
<62 90 2 ABLIKIM 07B BES2 eTe  — ¥(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.

2Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

-0
r(2(7r+7r ™ ))/rtotal Fa7/T
VALUE (units 1073) CL% EVTS DOCUMENT ID TECN COMMENT
<58.5 90 305 ABLIKIM 08N BES2 eTe  — ¥(3770)
Mwrt 7)) /Miotal Mg/l
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
< 6.0 90 L HUANG 06A CLEO ete™ — 4(3770)
e o ¢ We do not use the following data for averages, fits, limits, etc. @ o o
<55 90 2 ABLIKIM 071 BES2 3.77 ete™

1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

F@(a*a7))/Meotal 29/
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<91 90 1 ABLIKIM 078 BES2 ete™ — 4(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

r(3(1r+ W-)Wo)/rtotal M30/T
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<137 90 1 ABLIKIM 078 BES2 ete™ — (3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

(3(rt7~)2n0) /Tiotal M3/l
VALUE (units 10_3) CL% EVTS DOCUMENT ID TECN COMMENT
<117.4 90 59 ABLIKIM 08N BES2 ete™ — 4(3770)
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F(n7t 7)) /Teotal M2/l
VALUE (units 1073) CL% DOCUMENT ID TECN  COMMENT

<1.24 90 L HUANG 06a CLEO ete™ — 1(3770)

e o e We do not use the following data for averages, fits, limits, etc. o o o

<23 90 2 ABLIKIM 100 BES2 ete™ — 4(3770)

L Using Utot(e+ e~ — (3770)) = 7.9 £+ 0.6 nb at the resonance.
Assuming that interference effects between resonance and continuum can be neglected
and using c°S(et e~ — (3770)) = 7.15 = 0.38 nb.

I(7+ 7~ 27%) /Total 33/l
VALUE (units 10_3) CL% EVTS DOCUMENT ID TECN COMMENT

<8.9 90 218 ABLIKIM 08N BES2 ete™ — (3770)
M%7t 77) /Teotal 34/T
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT

<6.9 90 1 ABLIKIM 07F BES2 ete™ — 4(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

I'(n 3”) /Ttotal M35/l
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<13.4 90 L HUANG 06A CLEO ete™ — 4(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
F(n2(rt 7)) /Teotal M3/l
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<243 90 L ABLIKIM 078 BES2 ete™ — 1(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(et e~ — (3770)) = 7.15 + 0.38 nb.

0 —_
r("?P atm )/rtotal 37/l
VALUE (units 1072) CL% DOCUMENT ID TECN COMMENT
<1.45 90 L ABLIKIM 100 BES2 ete™ — 4(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

I(n'3m) /Ttotal l3g/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<24.4 90 L HUANG 06A CLEO ete™ — 1(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
MK+t K= 7t 71~) /Tiotal M39/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
< 9.0 90 L HUANG 06A CLEO ete™ — 4(3770)

https://pdg.Ibl.gov Page 12 Created: 8/11/2022 09:37
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e o o We do not use the following data for averages, fits, limits, etc. o o o
<48 90 2 ABLIKIM 078 BES2 ete™ — 4(3770)
1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.

2Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

M(¢ntn™) /Teotal la0/T
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT

< 4.1 90 L HUANG 06A CLEO ete™ — 4(3770)

e o ¢ We do not use the following data for averages, fits, limits, etc. @ o o

<16 90 2 ABLIKIM 07B BES2 eTe  — ¥(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £+ 0.6 nb at the resonance.
2Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

r(K+ K= 27"0)/rtotal I-41/r
VALUE (units 1073) CL% EVTS DOCUMENT ID TECN COMMENT

<4.2 90 14 ABLIKIM 08N BES2 ete™ — 4(3770)
F(4(7*77)) /Tiotal Fa2/T
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT

<16.7 90 L ABLIKIM 07F BES2 ete™ — 4(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(et e~ — 1(3770)) = 7.15 + 0.38 nb.

r(4(1r+ 7"—)7"0) /Ttotal Fa3/T
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT
<30.6 90 L ABLIKIM 07F BES2 ete™ — (3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using c°S(et e~ — (3770)) = 7.15 & 0.38 nb.

I(#£(980))/Ttotal Faa/T
VALUE (units 1074) CL% DOCUMENT ID TECN  COMMENT
<4.5 90 L HUANG 06A CLEO ete™ — 4(3770)
1 Using Utot(e+ e~ — (3770)) = 7.9 £+ 0.6 nb at the resonance.
M(K* K=ot 7~ 7°) /Tiotal Tas/T
VALUE (units 10_4) CL% DOCUMENT ID TECN  COMMENT
< 23.6 90 L HUANG 06A CLEO ete™ — 4(3770)
e o o We do not use the following data for averages, fits, limits, etc. @ o o
<111 90 2 ABLIKIM 078 BES2 ete™ — 4(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £+ 0.6 nb at the resonance.
2Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.
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I'(K"‘ K~ Po"fo)/rtotal Fa6/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<8 20 1 ABLIKIM 071 BES2 377 eTe™

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

r(K+ K~ p+7r—)/rtotal Fa7/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<146 20 1 ABLIKIM 071 BES2 377 eTe™

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

I'(wK+K—)/Ft°ta| Fag/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT

< 34 90 L HUANG 06A CLEO ete™ — 1(3770)

e o o We do not use the following data for averages, fits, limits, etc. o o o

<66 90 2 ABLIKIM 071 BES2 3.77 ete

L Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
Assuming that interference effects between resonance and continuum can be neglected
and using c°S(et e~ — (3770)) = 7.15 £ 0.38 nb.

-0
r(¢1r+1r ™ )/rtotal I-49/r
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<38 20 1 ABLIKIM 071 BES2 377 eTe™

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

M(K* K= 7t a0+ c.c.) /Tiotal 5o/l
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<162 20 1 ABLIKIM 071 BES2 377 eTe™

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(et e~ — (3770)) = 7.15 + 0.38 nb.

I'(K*"‘ K~ 1|'+7|'—+ C.C.)/rtota| r51/r
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<323 20 1 ABLIKIM 071 BES2 377 eTe™

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

M(K+ K= 7t 7~ 270) /Tiotal Ms2/T
VALUE (units 1073) CL% EVTS DOCUMENT ID TECN  COMMENT
<26.7 90 24 ABLIKIM 08N BES2 ete™ — ¢(3770)
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MK+ K= 2(n* 77)) /Tiotal Ms3/l
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<10.3 90 L ABLIKIM 07F BES2 ete™ — 1(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

MK+ K=2(n+77)70) /Total Msa/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<36.0 90 L ABLIKIM 07F BES2 ete™ — 1(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

K+ K~)/Tiotal Iss/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT

< 4.1 90 L HUANG 06A CLEO ete™ — 1(3770)

e o o We do not use the following data for averages, fits, limits, etc. o o o

<31 90 2 ABLIKIM 100 BES2 ete™ — 4(3770)

L Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
Assuming that interference effects between resonance and continuum can be neglected
and using c°S(et e~ — (3770)) = 7.15 = 0.38 nb.

F(nK* K~ 7t 77) /Total 56/l
VALUE (units 1072) CL% DOCUMENT ID TECN COMMENT
<1.24 90 L ABLIKIM 100 BES2 ete™ — 4(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(et e~ — (3770)) = 7.15 + 0.38 nb.

M(®K* K~) /Teotal Is7/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<5.0 90 L ABLIKIM 07F BES2 ete™ — 1(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(et e~ — (3770)) = 7.15 + 0.38 nb.

F(2(K* K™))/Teotal Isg/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT

< 6.0 90 L HUANG 06a CLEO ete™ — 1(3770)

e o e We do not use the following data for averages, fits, limits, etc. o o o

<17 90 2 ABLIKIM 078 BES2 ete™ — 4(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

r(¢ K+ K_)/rtotal I-59/r
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<175 90 L HUANG 06A CLEO ete™ — 4(3770)
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e o o We do not use the following data for averages, fits, limits, etc. o o o
<24 90 2 ABLIKIM 07B BES2 eTe  — ¥(3770)
1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.

2Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

—).-0
I'(2(K+K ) )/rtotal Feo/T
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<29 90 L HUANG 06A CLEO ete™ — 4(3770)
e o ¢ We do not use the following data for averages, fits, limits, etc. @ o o
<46 90 2 ABLIKIM 07B BES2 eTe  — ¥(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £+ 0.6 nb at the resonance.
2Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

MK+ K=)nt 7)) /Teotal le1/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<3.2 90 L ABLIKIM 07F BES2 ete™ — 1(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

r(Kg K~ 7r+)/rtotal Fe2/T
VALUE (units 10*3) CL% EVTS DOCUMENT ID TECN COMMENT

<3.2 90 18 ABLIKIM 08M BES2 ete™ — ¢(3770)
(K%K~ 7+ 70) /Teotal Fe3/T
VALUE (units 10_3) CL% EVTS DOCUMENT ID TECN COMMENT

<13.3 90 40 ABLIKIM 08M BES2 ete™ — (3770)
I'(K% K= p%) /Ttotal Fea/T
VALUE (units 10*3) CL% DOCUMENT ID TECN COMMENT

<6.6 90 ABLIKIM 09C BES2 ete™ — ¢(3770)
M(KYK=2r+77) [Tiotal Fes/T
VALUE (units 10_3) CL% EVTS DOCUMENT ID TECN COMMENT

<8.7 90 39 ABLIKIM 08M BES2 ete™ — (3770)
M(KYK~ 7% p0) /Tiotal Fe6/T
VALUE (units 1072) CL% DOCUMENT ID TECN COMMENT

<1.6 90 ABLIKIM 09C BES2 ete™ — (3770)
I'(Kg K—=nt ﬂ)/rtotal Fe7/T
VALUE (units 10*2) CL% DOCUMENT ID TECN COMMENT

<13 90 ABLIKIM 09C BES2 ete™ — ¢(3770)
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0 y— -0
(K%K~ 2r+ 7~ 70) /Tegral Fea/T
VALUE (units 10*3) CL% EVTS DOCUMENT ID TECN COMMENT
<41.8 90 23 ABLIKIM 08M BES2 ete™ — ¢(3770)
M(KYK=2r+ 77 1) /Tiotal Feo/T
VALUE (units 10_2) CL% DOCUMENT ID TECN COMMENT
<4.8 90 ABLIKIM 09C BES2 etTe™ — ¢(3770)
M(KYK= 7t 2(nt 7)) /Teotal M70/T
VALUE (units 10_3) CL% EVTS DOCUMENT ID TECN COMMENT
<12.2 90 4 ABLIKIM 08M BES2 ete™ — 4(3770)

0 y— 0
M(KY K=+ 270) /Tigral F71/T
VALUE (units 10*3) CL% EVTS DOCUMENT ID TECN COMMENT
<26.5 90 17 ABLIKIM 08M BES2 ete™ — ¢(3770)
M(KEK= Kt K= %) [Tiotal 72/
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT
<4.9 90 ABLIKIM 09C BES2 etTe™ — ¢(3770)

0 y— - 0
M(KYK= K+ K= 7t 70) /Tiotal 73/l
VALUE (units 10*2) CL% DOCUMENT ID TECN COMMENT
<3.0 90 ABLIKIM 09C BES2 ete™ — 4(3770)

0 w— —
M(KYK= Kt K= 7" n) /Tiotal l74/T
VALUE (units 10_2) CL% DOCUMENT ID TECN COMMENT
<22 90 ABLIKIM 09C BES2 ete™ — 4(3770)
MK* K~ 7t +c.c.)/Tiotal I7s5/T
VALUE (units 10*3) CL% DOCUMENT ID TECN COMMENT
<9.7 90 L ABLIKIM 07F BES2 ete™ — 1(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(et e~ — (3770)) = 7.15 + 0.38 nb.

I (pP)/Ttotal M76/T

VALUE (units 1076) EVTS DOCUMENT ID TECN COMMENT

e o ¢ We do not use the following data for averages, fits, limits, etc. o o o

not seen 1 AALd 17ADLHCB pp —» BT X = ppKT X
711 §8 684 2 ABLIKIM 14L BES3 eTe™ — 4(3770)

310 +30 684 3 ABLIKIM 14L BES3 ete™ — (3770)

L AA1J 174D reports B(B1T — (3770) KT — ppK1)/B(BT — J/w KT = ppKT)
< 0.09 (0.10) at 90% (95%) CL.

2 5olution | of two equivalent solutions in a fit with a resonance interfering with continuum.

3 Solution 11 of two equivalent solutions in a fit with a resonance interfering with continuum.
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=0
I-(PP"" )/rtotal F77/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
< 04 90 1,2 ABLIKIM 140 BES3 ete™ — ¥(3770)
e o ¢ We do not use the following data for averages, fits, limits, etc. @ o o
59 T35 1,3 ABLIKIM 140 BES3 ete™ — 4(3770)
<12 90 4 ABLIKIM 07B BES2 ete ™ — ¥(3770)

1 Calculated by the authors using a(e+ e~ — (3770) — hadrons) = 6.36 + 0,081‘8-3%

nb from BESSON 10.

Solution | of two equivalent solutions in a fit with a resonance interfering with continuum.
3 Solution Il of two equivalent solutions in a fit with a resonance interfering with continuum.
4Assuming that interference effects between resonance and continuum can be neglected

and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

M(pprtn™) /Tiotal 78/
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT

< 5.8 90 L HUANG 06A CLEO ete™ — 1(3770)

e o ¢ We do not use the following data for averages, fits, limits, etc. o o o

<16 90 2 ABLIKIM 07B BES2 eTe  — ¥(3770)

L Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(et e~ — (3770)) = 7.15 + 0.38 nb.

F(Am/rtow r79/r
VALUE CL% DOCUMENT ID TECN COMMENT

<1.2x10~4 90 1 HuANG 06A CLEO ete™ — 1(3770)

e o ¢ We do not use the following data for averages, fits, limits, etc. o o o

<1.8x 104 90 2 ABLIKIM 21As BES3 et e~ — 4(3770)

<4 x107%4 90 3 ABLIKIM 07F BES2 ete™ — 4(3770)
L Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.

From a measurement of the eT e~ — A cross section between 3.5 and 4.6 GeV. At
a 90% CL the lower bound is > 2.4 x 1070,
Assuming that interference effects between resonance and continuum can be neglected

and using 0°0S(et e~ — (3770)) = 7.15 + 0.38 nb.

= -0
M(pprt 7~ 79) /Teotal Fso/T
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<185 90 L HUANG 06A CLEO ete™ — ¢(3770)
e o o We do not use the following data for averages, fits, limits, etc. o o o
<73 90 2 ABLIKIM 078 BES2 ete™ — 4(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.

2Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

I (wpB)/ltotal g1/
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<29 90 L HUANG 06A CLEO ete™ — 4(3770)
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e o o We do not use the following data for averages, fits, limits, etc. o o o
<30 90 2 ABLIKIM 071 BES2 3.77 ete™

1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
2Using 0°bS = 7.15 4+ 0.27 4 0.27 nb and neglecting interference.

A0
r(/\/hr )/rtotal Fg2/T
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
< 0.7 90 1 ABLIKIM 13Q BES3 ete  — ¥(3770)
e o ¢ We do not use the following data for averages, fits, limits, etc. o o o
<12 90 2 ABLIKIM 071 BES2 3.77 et e~

1Assuming that interference effects between resonance and continuum can be neglected.
2Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(et e~ — (3770)) = 7.15 + 0.38 nb.

F(pp2(n* 77))/Tiotal Fea/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<2.6 90 L ABLIKIM 07F BES2 ete™ — 1(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

F(nPP)/Tiotal gq/T
VALUE (units 10~%) CL% DOCUMENT ID TECN  COMMENT

< 5.4 90 L HUANG 06a CLEO ete™ — 1(3770)

e o e We do not use the following data for averages, fits, limits, etc. o o o

<11 90 2 ABLIKIM 100 BES2 etTe™ — 4(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

F(npPat7™) /Tiotal Fes/T
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT
<3.3 90 1 ABLIKIM 100 BES2 ete™ — 4(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

() J—
[ (0°PP) /Ttotal Fge/l
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT
<17 90 1 ABLIKIM 07F BES2 ete™ — ¢(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

r(pp K+ K™) /Ttotal Fgz7/T
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
< 3.2 90 L HUANG 06A CLEO ete™ — 4(3770)
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e o o We do not use the following data for averages, fits, limits, etc. o o o
<11 90 2 ABLIKIM 078 BES2 ete™ — 1(3770)

L Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

F(npPKT K™)/Ttotal les/l
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT
<6.9 90 1 ABLIKIM 100 BES2 ete™ — 4(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

I(x®pPK* K~)/Tiotal Fgo/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<1.2 90 L ABLIKIM 100 BES2 ete™ — 4(3770)

1Assuming that interference effects between resonance and continuum can be neglected
and using 0°S(et e~ — (3770)) = 7.15 + 0.38 nb.

[ (#PP)/Ttotal Fgo/T
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT

<13 90 L HUANG 06A CLEO ete™ — 4(3770)

e o o We do not use the following data for averages, fits, limits, etc. o o o

<9 90 2 ABLIKIM 078 BES2 ete™ — 4(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
Assuming that interference effects between resonance and continuum can be neglected
and using 0°0S(et e~ — (3770)) = 7.15 + 0.38 nb.

F(AA7+77) [Tiotal Fo1/T
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT

< 25 90 L HUANG 06A CLEO ete™ — 4(3770)

e o o We do not use the following data for averages, fits, limits, etc. o o o

< 47 90 2 ABLIKIM 13Q BES3 eTe™ — ¥(3770)
<39 90 3 ABLIKIM 07F BES2 ete™ — ¥(3770)

L Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.

Assuming that interference effects between resonance and continuum can be neglected.
3Assuming that interference effects between resonance and continuum can be neglected

and using 0°0S(etT e~ — 1(3770)) = 7.15 + 0.38 nb.

F(ABKY)/Tiotal Fo2/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<28 90 L HUANG 06A CLEO ete™ — 1(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
F(ApK* 7t n™) [Tiotal o3/l
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<6.3 90 1 HuANG 06A CLEO ete™ — 4(3770)

1 Using Utot(e+ e~ — (3770)) = 7.9 £ 0.6 nb at the resonance.
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[(AAn) /Tiotal loa/T

VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT

<1.9 90 L ABLIKIM 13Q BES3 eTe™ — ¥(3770)
1Assuming that interference effects between resonance and continuum can be neglected.

M=t E7) /Meotal Fos/I

VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT

<1.0 90 L ABLIKIM 13Q BES3 eTe™ — ¥(3770)
1Assuming that interference effects between resonance and continuum can be neglected.

M(Z0%0) /Miotal Fo6/T

VALUE (units 10_4) CL% DOCUMENT ID TECN  COMMENT

<0.4 90 1 ABLIKIM 13Q BES3 ete™ — 4(3770)

1 Assuming that interference effects between resonance and continuum can be neglected.
(54 5) /Moa Fon/T
VALUE (units 10_4) CL% DOCUMENT ID TECN  COMMENT
<15 90 1 ABLIKIM 13Q BES3 eTe™ — ¥(3770)

1 Assuming that interference effects between resonance and continuum can be neglected.
M(Z°=°) /T eotal Fog/T
VALUE (units 10_4) CL% DOCUMENT ID TECN  COMMENT
<14 90 L ABLIKIM 13Q BES3 ete™ — 4(3770)

1 Assuming that interference effects between resonance and continuum can be neglected.

— RADIATIVE DECAYS ——

r(’YXc2)/ ltotal Foo/T

VALUE (units 10-3) CL% DOCUMENT ID TECN  COMMENT

<0.64 90 1 ABLIKIM 15) BES3 ete™ — ¢(3770) —
Yy /v

e o ¢ We do not use the following data for averages, fits, limits, etc. o o o

<2.0 90 2 BRIERE 06 CLEO ete™ — (3770) —
v + hadrons

<0.9 90 3 COAN 06A CLEO ete™ — ¢(3770) —
Yy Jd/v

1 This limit is equivalent to (0.25 £ 0.21 + 0.18) x 103 branching fraction value.

2 Uses B(¥(2S) = 7vx2) = 9.22 £ 0.11 £ 0.46 % from ATHAR 04, )(2S) mass and
width from PDG 04, and I, (¥(25)) = 2.54 £ 0.03 £ 0.11 keV from ADAM 06.

3 Using IMee(¥(2S)) = (2.54 £ 0.03 £ 0.11) keV from ADAM 06 and taking oclete™ —
DD) from HE 05 for o(ete™ — (3770)).

I (YXc1)/Ttotal Moo/l

VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT

2.49+0.23 OUR AVERAGE

1.98+0.78+0.05 202 L ABLIKIM 168 BES3 ete™ — ¥(3770) —
v + hadrons

2.48+0.15+0.23 0.6k ABLIKIM 15) BES3 ete™ — ¥(3770) —
Yy /Y
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2.4 +0.8 +0.2 2 ABLIKIM 14H BES3 eTe™ — (3770) —
K%Kiw¢

2.9 +0.5 +0.4 3 BRIERE 06 CLEO ete™ — ¢(3770) —
v 4+ hadrons,
yyJ/P

e o o We do not use the following data for averages, fits, limits, etc. @ o o

3.9 +£1.4 +0.6 54 4 BRIERE 06 CLEO ete™ — ¢(3770) —
v + hadrons

2.8 +0.5 +0.4 53 9 COAN 06A CLEO ete™ — (3770) —
yyJ/P

1 ABLIKIM 168 reports (1.944+0.421+0.64) x 103 from a measurement of [F(y(3770) —
Xc1)/Ttotall / B(#(2S) = vx1(1P))] assuming B(¥(25) — vx1(1P)) = (9.55+
0.31) x 10~2, which we rescale to our best value B(¥(2S) = vx1(1P)) = (9.75 £

0.24) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

2 ABLIKIM 14H reports [I'(1(3770) = vxc1)/Trotall X [B(xc1(1P) & KL KExT)]
= (8.51 £ 2.39 £+ 1.42) x 10~ which we divide by our best value B(xc1(1P) —
K% KE 7F) = 0.00349 £ 0.00029. Our first error is their experiment’s error and our
second error is the systematic error from using our best value. We have calculated the
best value of B(x.1(1P) — K% K:tﬂ':F) as 1/2 of B(x1(1P) — KOK+ 7=+ c.c.)
= (7.0 £ 0.6) x 103.

3Averages the two measurements from COAN 06A and BRIERE 06.

4 Uses B(¥(2S) = 7vxc1) = 9.07 £ 0.11 & 0.54 % from ATHAR 04, (2S) mass and
width from PDG 04, and I, (%(25)) = 2.54 £ 0.03 £ 0.11 keV from ADAM 06.

5 Using I (¥(2S)) = (2.54 £ 0.03 £ 0.11) keV from ADAM 06 and taking olete™ =
DD) from HE 05 for o(ete™ — (3770)).

M(vxe1)/F(J/¢ntn™) Moo/Ts

VALUE EVTS DOCUMENT ID TECN COMMENT

1.494+0.314+0.26 53 + 10 1 coan 06A CLEO eTe™ — (3770) —
vy /Y

1 Using B(4(3770) — J/ipmt n~) = (1.89 + 0.20 + 0.20) x 10~3 from ADAM 06.

I (7Xc0)/Ttotal M01/T

VALUE (units 10_3) CL% EVTS DOCUMENT ID TECN COMMENT

6.91+0.6 OUR AVERAGE

6.7+£0.74+0.1 2.2k 1 ABLIKIM 168 BES3 ete™ — (3770) —
v + hadrons

7.3+0.7+0.6 274 BRIERE 06 CLEO ete™ — ¢(3770) —
v + hadrons

e o e We do not use the following data for averages, fits, limits, etc. o o o

< 44 90 2 COAN 06A CLEO ete™ — (3770) —
Yy I/

1 ABLIKIM 168 reports (6.88+£0.28+£0.67) x 10~3 from a measurement of [F (v (3770) —
7Xc0)/Ttotall / [B(#(25) = vxco(1P))] assuming B(1(25) — vx(1P)) = (9.99+
0.27) x 102, which we rescale to our best value B(¥(25) — vxo(1P)) = (9.79 £

0.20) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

2 Using IMee(¥(2S)) = (2.54 £ 0.03 £ 0.11) keV from ADAM 06 and taking olete™ —
DD) from HE 05 for (et e™ — (3770)).
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F(7xc0) /T (YXc2) M101/T99
VALUE CLY% DOCUMENT ID TECN  COMMENT
e o o We do not use the following data for averages, fits, limits, etc. @ o o
>8 90 1 BRIERE 06 CLEO ete™ — 1(3770)
1 Not independent of other results in BRIERE 06.
I (Yxc0) /T (YXc1) F101/T'100
VALUE DOCUMENT ID TECN COMMENT
e o e We do not use the following data for averages, fits, limits, etc. e o o
2.5+0.6 1 BRIERE 06 CLEO ete — ¥(3770)
I Not independent of other results in BRIERE 06.
r(’)’ ﬂc)/ Mtotal M02/T
VALUE CL% DOCUMENT ID TECN
<7 x 104 90 1 ABLIKIM 144 BES3

LABLIKIM 14H reports [[((3770) — 1) /Tioall X [B(nc(1S) — KL KExT)]
< 16x10~0 which we divide by our best value B(1(15) - K¢ K 7F) =2.42x1072.
We have calculated the best value of B(n.(1S5) — KOS K* 7T) as 1/3 of B(n.(1S5) —
KKr) =73x10"2.

I (v1c(25)) /Ttotal Mo3/T
VALUE CL% DOCUMENT ID TECN
<9 x 10—4 90 1 ABLIKIM 14H BES3

L ABLIKIM 14H reports [ (1(3770) = 71 (25))/Tiotall X [B(nc(25) — K& KExT)]
< 5.6 x 107 which we divide by our best value B(n.(2S) — K% K* 7t)=6x 103,
We have calculated the best value of B(n.(25) — KOS K* 7T) as 1/3 of B(n.(25) —
KKm) =1.9x 102

F(v7) /Teotal F104/T
VALUE (units 10_4) CL% DOCUMENT ID TECN  COMMENT
<18 90 1 PEDLAR 09 CLE3 (25) — ~vX
1 Assuming maximal destructive interference between ¢(3770) and continuum sources.
[(vn)/Ttotal F105/T
VALUE (units 10_4) CL% DOCUMENT ID TECN  COMMENT
<15 90 1 PEDLAR 09 CLE3 #(2S) —» ~X
1Assuming maximal destructive interference between 1(3770) and continuum sources.
M (v7%) /Teotal T106/T
VALUE (units 1074) CL% DOCUMENT ID TECN  COMMENT
<2 90 PEDLAR 09 CLE3 #(2S) - ~X
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(PDG Collab.)
(LHCb Collab.)
(LHCb Collab.)

(BESIII Collab.
(BESIII Collab.
(NOVO

(BESIII Collab.
(BESIII Collab.
(BESIII Collab.
(CLEO Collab.
(BESIII Collab.
(KEDR Collab.
(BES 1l Collab.
(CLEO Collab.
(BES Collab.
(CLEO Collab.
(BES Collab.
(BES Collab.
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(BABAR Collab.
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